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QUESTION 1

Senior management plays a role in implementing Scrum in the organization. What role does management play?
A. They coach the Scrum Team to start using Scrum.

B. They decide where the Scrum Team works.

C. They empower the Scrum Team to do a new thing.

Correct Answer: C

QUESTION 2

A team decided to install a large traffic light in the team hall to indicate whether the latest build was healthy
(green), failing a few tests (orange) or failing high priority tests (red).

What term can be used to describe the traffic light?

A. Information radiator

B. Osmotic communication

C. Triangulation

Correct Answer: A

QUESTION 3

Sprint planning should result in a commitment on what will be delivered at the end of the Sprint. Who makes this
commitment?

A. The Product Owner
B. The Scrum Master
C. The team

Correct Answer: C

QUESTION 4

During a Sprint, the team completes four stories with story points 3, 5, 8 and 2 respectively. They further complete half a
story with a story point of 13.

What is the velocity of the team?

A. 18
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B. 24.5
C.31

Correct Answer: A

QUESTION 5

A large product team features six different teams having ten members each, working on a project that involves four high
level features.

How many Product Backlogs should the team have?
Al
B. 4
C.6

Correct Answer: A
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